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ERE HE\VTE #AE [EiEl—tE
h XET #1115 18 0 50 3 7 60 22 82 420, 523 40, 597
tEEh NPOE A 42 0 67 10 21 98 191 289 1,135, 643 110, 187
FDith 4 1 17 2 2 22 11 99 253,229 17,411
hXETFT 1% 4 0 7 0 2 9 18 27 19, 213 1,415
JI& T NPOEA 15 0 21 3 5 29 126 155 171,185 39, 577
ZDith 5 0 4 2 1 )i 21 28 41,761 4, 031
hXETFT £ 1% 2 0 15 7 2 24 6 30 184, 543 20, 789
BEBET NPOEA 9 1 20 6 3 30 49 79 216, 266 32, 347
FDith 4 0 5 0 0 5 21 26 62, 049 1,171
hXETFT 1% 1 1 2 0 0 3 36 39 41,141 2,903
WEET NPOEA 11 0 34 0 1 41 38 79 401, 872 49, 086
ZDith 2 0 1 0 3 4 6 10 51 8
h XET #1175 0 0 0 0 0 0 0 0 0 0
T NPOE A 5 0 6 0 0 6 30 36 30, 382 6, 811
FDith 0 0 0 0 0 0 0 0 0 0
hXETFT 1% 0 0 0 0 0 0 0 0 0 0
HE™ NPOEA 1 0 5 1 3 9 22 31 74,372 6, 543
ZDith 3 0 1 2 2 5 31 36 51,975 6,275
h XET #1175 0 0 0 0 0 0 0 0 0 0
B&R™ NPOE A 6 1 5 0 2 8 25 33 40, 184 4,189
FDith 4 0 3 0 1 4 30 34 58,222 5,334
hXETFT 1% 0 0 0 0 0 0 0 0 0 0
INARTH NPOEA 3 0 1 0 1 8 25 33 23,926 3, 861
ZDith 1 0 6 0 0 6 3 9 2,131 362
h XET #1175 1 0 3 0 0 3 0 3 1,243 876
FylEmh NPOEA 3 0 4 0 2 6 9 15 29,527 5,819
FDith 0 2 1 0 3 1 4 1,514.5 119
hXETFT 1% 0 1 0 0 1 0 1 5,854 233
EFH NPOEA 2 1 3 0 1 5 11 16 57,496 6, 532
ZDith 0 0 0 0 0 0 0 0 0 0
h XETF1 £ 1% 0 0 0 0 0 0 0 0 0 0
=@ NPOEA 0 0 0 0 0 0 0 0 0 0
FDith 0 0 0 0 0 0 0 0 0 0
hXETFT 1% 0 0 0 0 0 0 0 0 0 0
Z%HHh NPOEA 3 0 5 1 1 7 28 35 22,283 4,718
ZDith 1 0 0 0 1 1 17 18 20, 312 1,699
h XETF1 £ 1% 1 0 2 0 0 2 0 2 19, 873 1,607
EXH NPOEA 2 0 9 0 3 12 4 16 34, 343 3, 136
FDith 0 0 0 0 0 0 0 0 0 0
hXETFT 1% 0 0 0 0 0 0 0 0 0 0
RFnm NPOEA 5 0 9 2 3 14 36 50 84, 435 14,518
ZDith 0 0 0 0 0 0 0 0 0 0
h XETF1 £ 1% 1 0 0 1 0 1 0 1 8,675 422
REET NPOEA 2 0 3 2 0 5 18 23 36, 832 9,661
FDith 1 0 2 0 0 2 Ji 9 8,526 1, 841
hXETFT 1% 1 0 1 1 0 2 28 30 19, 726 4, 054
BEA™ NPOEA 1 0 2 0 0 2 13 15 26, 761 2,780
ZDith 0 0 0 0 0 0 0 0 0 0
h XETF1 £ 1% 0 0 0 0 0 0 0 0 0 0
23501 NPOEA 1 0 3 1 1 5 16 21 18, 311 1,782
FDith 0 0 0 0 0 0 0 0 0 0
hXETFT 1% 1 0 2 2 0 4 0 4 20, 466 1,133
AT NPOEA 1 0 0 0 0 0 10 10 4,613 695
ZDith 0 0 0
h XETF1 £ 1% 1 0 3 0 0 3 8 11 30, 566 1,682
&A™ NPOEA 1 0 2 0 0 2 10 12 16, 509 1,664
FDith 0 0 0
hXETFT 1% 1 1 1 0 0 2 0 2 14,119 530
=310 NPOEA 0 0 0 0 0 0 0 0 0 0
ZDith 0 0 0 0 0 0 0 0 0 0
h XETF1 £ 1% 1 0 2 0 0 2 18 20 — 972
]I BT NPOEA 0 0 0 0 0 0 0 0 0 0
FDith 1 0 2 0 1 3 2 5 182 50
hXETFT 1% 0 0 0 0 0 0 0 0 0 0
KEHT NPOEA 0 0 0 0 0 0 0 0 0 0
ZDith 0 0 0 0 0 0 0 0 0 0
h XETF1 £ 1% 0 0 0 0 0 0 0 0 0 0
—=HT NPOE A 1 0 3 0 0 3 12 15 4,699 422
FDith 0 0 0 0 0 0 0 0 0 0
hXETFT 1% 1 0 3 0 0 3 3 6 8, 700 730
o HET NPOEA 1 0 1 0 2 3 11 14 2,434 442
ZDith 0 0 0 0 0 0 0 0 0 0
h XETF1 £ 1% 1 0 2 0 1 3 1 4 4,102 1,009
KFHET NPOE A 0 0 0 0 0 0 0 0 0 0
FDith 0 0 0 0 0 0 0 0 0 0
hXETFT 1% 1 0 1 0 1 2 2 4 14,276 468
iNsLing NPOEA 1 0 2 0 0 2 6 8 13, 745 656
ZDith 0 0 0 0 0 0 0 0 0 0
h XETF1 £ 1% 1 0 2 1 1 4 0 4 1,373 319
1iE]d:1) NPOEA 0 0 0 0 0 0 0 0 0 0
FDith 0 0 0 0 0 0 0 0 0 0
hXETFT 1% 1 0 0 3 0 3 1 4 2, 301 151
BA AT NPOEA 0 0 0 0 0 0 0 0 0 0
ZDith 0 0 0 0 0 0 0 0 0 0
h XETF1 £ 1% 0 0 0 0 0 0 0 0 0 0
FEtRAT NPOE A 0 0 0 0 0 0 0 0 0 0
FDith 0 0 0 0 0 0 0 0 0 0
hXETFT 1% 0 0 0 0 0 0 0 0 0 0
=kl NPOEA 0 0 0 0 0 0 0 0 0 0
ZDith 0 0 0 0 0 0 0 0 0 0
hXETFT £ 1% 1 1 1 0 0 2 0 2 6, 441 1,157
& R AT NPOEA 1 0 2 0 0 2 5 1 1,949 274
FDith 0 0 0 0 0 0 0 0 0 0
hXETFT 1% 1 0 2 1 0 3 1 4 9,582 634
= )I||T NPOEA 0 0 0 0 0 0 0 0 0 0
ZDith 0 0 0 0 0 0 0 0 0 0
h XETF1 £ 1% 1 0 3 0 0 3 1 4 8,784 353
bFlIES) NPOEA 0 0 0 0 0 0 0 0 0 0
FDith 0 0 0 0 0 0 0 0 0 0
] hXETFT 1% 42 3 103 19 14 139 145 284 853,501.0 82,034
I E NPOEA 123 3 213 26 55 297 695 992 2,447,767.0 306, 300
Z D 27 1 43 Ji 11 62 216 278 500, 558. 5 44 307
& & 192 7 359 52 80 498 1,056 1,554| 3.801,826.5 432, 641




